


10.

11.

The covering number of a cycle on 3n vertices is 12.
(a) 3 b n

© 3n (d) none of these

The value of r (3, 4) is

(@ 3 (b) 4

(e o (d) none of these

The vertex chromatic number a complete graph on

n vertices is 18,
(@) n b)) n-1
@ 1 (d) none of these
The vertex chromatic number of a complete
bipartite graph K, , is
(@ 2 (b) m
@ - n (d) none of these
PART B — (b x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
(a) Prove that a connected graph is a tree if and 14.

only if every edge is a cut edge.
Or

() If G is loopless graph, prove that G is a tree
if and only if any two vertices are connected
by a unique path.
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(a)

(b)

(a)

(b)

(a)

(b)

Define vertex connectivity, edge connectivity
of a graph with example. Give an example of
a graph in which K< K'<§.

Or

If a graph G has at most two vertices of odd
degree, then prove that G has an Euler trail.

Prove that, in a bipartite graph, the number
of edges in a maximum matching is equal to
the number of vertices in a minimum
covering.

Or

Let G be a connected graph that is not an
odd cycle. Then prove that G has a 2-edge
colouring in which both colours
represented at each vertex of degree atleast

are

two.
If 6'>0, prove that &'+ g'=v.
Or

Prove that r(3, 3)=6.
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